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Reg. No.

I Semester B.A./B.Sc./B.C.A./B.Com./B.B.A. Degree Examination, April - 2023
' ECONOMICS

Indian Economy Prior to Economic Reforms
(NEP Scheme Freshers and Repeaters)
- Paper : OEC-I

Time : 2 ¥ Hours , | Maximum Marks : 60
Instructions to’' Candidates: ' £ '
1) . Answer should be written in Kannada or English.
2)  Answer of Part A should be continuous.
3)  Answer should be precise.

Part-A
. (Conceptual)
I Answer any Ten of the following. Each question carries one mark. - (10x1=10)

1. a) What is mixed Economy 9

NI, SRFBS D0TTEID 2

b)  Givethe meaning of Inflation.
TEITTT ST e ?

'¢) Whatispoverty ?
WEST 0TTEID ?

d) Whatis bombay plan ?
| 239023 036z 20E3ER0 2

e) Mention two reasons for income inquality.

303903 SRR NIZNR T @dmm*ab 3%3.

[P.TO.




LT | )
f)  Whatis monetary policy ?
TEETOAT Q3 0TTED ?
g2) Mention two causes for unemployment in India.
LROSTY, NTOTR, €718 TR FaTLNIRY, 3904
h)  When was NITI Ayog established ?
RS Sodeensy) m@ﬁﬁo&md TR 3R ?
1) Expand MSME
- MSME oR) 2303
J)  Mention two exparts of India
LPTBT TR TPYNT), 39A.
3
k)  Mention two impacts of privatisation.
SDRNETTEIT TR TOFITONT), S9R.
) ExpandLPG
LPG o) 2503 -
: Part-B
(Analytical)

IL  Answer any six of the following. E

2.

Explain the causes for poverty in India.
thplexinl uza’szal TTENTIY, O=OA.

Explain the objectives of monetary policy.
BEOBOAT VeSO VT EBNFR) ITOR.

* Briefly explain the defects of Agricultural Marketing in India.
WITBTQ, ) 3005 05 cReaEndy ROSTToN DTOX.

_ Explain the objectives of Green Revolution.

BT 2,080 VT EBRIRY D[R,

ach question carries five marks.
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6.  Briefly explain the Role of Industrial Development in India.
PRUSTA, F100% W[ D0 T3, =), RodTeson HTOR.
Q@ L3 -0
7.  Write a short note on LPG.
LPG 7} 2,023 €333 2080000.
8.  Explain the salient features of foreign trade of India.
UIT DD T, TITT TR0 VLYY IR0
9.  Explain briefly the various problems of small scale industries in India.
03T B9 LVORONG TR NP R03 DTN DTOA.
™ i) Q - ' 3 o W
Part-C
* (Descriptive)
M. Answer any Two of the following. Each question carries Ten marks. (2x10=20)

10. “IsIndiaadeveloping Nation” - Discuss.

-11.

12.

03 1.0 8130 BROTIWE T - WA,

Explain the causes and measures to control Black Money.

8a3 e98, BoTrarteh 503y STT DODOZ, 0 BT, HTO%.

Explain the causes for increase in public expenditure in India.

TS T T ST BeIFE T0LNIS) DTOX.




